

Contents lists available at ScienceDirect

# **Applied Mathematics and Computation**

journal homepage: www.elsevier.com/locate/amc



# A certain generalized Pochhammer symbol and its applications to hypergeometric functions



H.M. Srivastava a,\*, Ayşegül Çetinkaya b, İ. Onur Kıymaz b

- <sup>a</sup> Department of Mathematics and Statistics, University of Victoria, Victoria, British Columbia V8W 3R4, Canada
- <sup>b</sup> Department of Mathematics, University of Ahi Evran, TR-40100 Kırşehir, Turkey

#### ARTICLE INFO

#### Keywords:

functions

Gamma and the extended gamma functions
Pochhammer's symbol and its
generalizations
Gauss hypergeometric function
Confluent hypergeometric function
Generalized hypergeometric function
Generating functions
Generalized hypergeometric polynomials

Bessel, modified Bessel and Macdonald

#### ABSTRACT

In this article, we first introduce an interesting new generalization of the familiar Pochhammer symbol by means of a certain one-parameter family of generalized gamma functions. With the help of this new generalized Pochhammer symbol, we then introduce an extension of the generalized hypergeometric function  $_rF_s$  with r numerator and s denominator parameters. Finally, we present a systematic study of the various fundamental properties of the class of the generalized hypergeometric functions introduced here.

© 2013 Elsevier Inc. All rights reserved.

### 1. Introduction and preliminaries

In many areas of applied mathematics, various types of special functions become essential tools for scientists and engineers. The continuous development of mathematical physics, probability theory and other areas has led to new classes of special functions and their extensions and generalizations (see, for details, [22] and the references cited therein; see also [20,21,23,24]).

The (Euler's) gamma function  $\Gamma(z)$  is one of the most fundamental special functions, because of its important rôle in various fields in the mathematical, physical, engineering and statistical sciences. Various generalizations of the gamma function can be found in the literature [6,9,11,12,26]. In particular, Chaudhry and Zubair [6] (see also [5]) introduced an interesting generalization of the gamma function  $\Gamma(z)$  as follows:

$$\Gamma_{p}(z) := \begin{cases} \int_{0}^{\infty} t^{z-1} \exp\left(-t - \frac{p}{t}\right) dt & \left(\Re(p) > 0; \ z \in \mathbb{C}\right) \\ \Gamma(z) & \left(p = 0; \ \Re(z) > 0\right). \end{cases}$$
 (1)

The classical Pochhammer symbol  $(\lambda)_{\nu}$   $(\lambda, \nu \in \mathbb{C})$  is defined, in terms of the gamma function, by

$$(\lambda)_{\nu} := \frac{\Gamma(\lambda + \nu)}{\Gamma(\lambda)} = \begin{cases} 1 & (\nu = 0; \ \lambda \in \mathbb{C} \setminus \{0\}) \\ \lambda(\lambda + 1) \cdots (\lambda + n - 1) & (\nu = n \in \mathbb{N}; \ \lambda \in \mathbb{C}), \end{cases}$$
 (2)

it being understood *conventionally* that  $(0)_0 := 1$  and assumed *tacitly* that the  $\Gamma$ -quotient exists (see, for details, [25, p. 21 *et seq.*]),  $\mathbb{N}$  being (as usual) the set of positive integers (see also [10,19]).

E-mail addresses: harimsri@math.uvic.ca (H.M. Srivastava), acetinkaya@ahievran.edu.tr (A. Çetinkaya), iokiymaz@ahievran.edu.tr (İ. Onur Kıymaz).

<sup>\*</sup> Corresponding author.

Recently, in terms of the *incomplete gamma functions*  $\gamma(s,x)$  and  $\Gamma(s,x)$  defined, respectively, by

$$\gamma(\kappa, x) := \int_0^x t^{\kappa - 1} e^{-t} dt \quad \left(\Re(\kappa) > 0; \ x \ge 0\right)$$
 (3)

and

$$\Gamma(\kappa, x) := \int_{x}^{\infty} t^{\kappa - 1} e^{-t} dt \quad \left( x \ge 0; \ \Re(\kappa) > 0 \quad \text{when} \quad x = 0 \right), \tag{4}$$

which are known to satisfy the following decomposition formula:

$$\gamma(\kappa, \mathbf{x}) + \Gamma(\kappa, \mathbf{x}) = \Gamma(\kappa) \quad (\Re(\kappa) > 0), \tag{5}$$

the so-called incomplete Pochhammer symbols

$$(\lambda; x)_{v}$$
 and  $[\lambda; x]_{v}$   $(\lambda, v \in \mathbb{C}; x \ge 0)$ 

were defined by Srivastava et al. [22] as follows:

$$(\lambda; \mathbf{x})_{\mathbf{v}} := \frac{\gamma(\lambda + \mathbf{v}, \mathbf{x})}{\Gamma(\lambda)} \quad \left(\lambda, \mathbf{v} \in \mathbb{C}; \, \mathbf{x} \ge \mathbf{0}\right) \tag{6}$$

and

$$[\lambda; \mathbf{x}]_{v} := \frac{\Gamma(\lambda + v, \mathbf{x})}{\Gamma(\lambda)} \quad (\lambda, v \in \mathbb{C}; \ \mathbf{x} \ge \mathbf{0}). \tag{7}$$

As a matter of fact, Srivastava et al. [22] and other authors (see, for example, [3,27–29]) made use of the incomplete Pochhammer symbols defined by (6) and (7) with a view to investigating the various properties of the corresponding incomplete hypergeometric functions and incomplete hypergeometric polynomials (see also several recent works on the subject including, for example, [4,15–17]).

Motivated essentially by these aforecited investigations, here we first introduce a generalization of the Pochhammer symbol in (2) by using the generalized gamma function  $\Gamma_p(z)$  defined by (1). We then derive its useful properties and make use of it to define and investigate the corresponding extension of the generalized hypergeometric function  $_rF_s$  with r numerator and s denominator parameters. Various other related functions and their integral representations are also considered. Moreover, for *further* reading by the interested reader, we have chosen to include a number of useful references which would provide the needed details about such topics as (for example) the gamma and related functions, the Bessel and the modified Bessel functions, the Gauss and Kummer hypergeometric functions, and the generalized hypergeometric functions and polynomials, each of which is dealt with in our investigation here.

# 2. A generalized Pochhammer symbol

Our proposed generalization of the Pochhammer symbol  $(\lambda)_{\nu}$   $(\lambda, \nu \in \mathbb{C})$  is defined by

$$(\lambda; p)_{\nu} := \begin{cases} \frac{\Gamma_{p}(\lambda + \nu)}{\Gamma(\lambda)} & \left(\Re(p) > 0; \ \lambda, \nu \in \mathbb{C}\right) \\ (\lambda)_{\nu} & (p = 0; \ \lambda, \nu \in \mathbb{C}), \end{cases}$$
(8)

which leads us easily to the following integral representation for the generalized Pochhammer symbol  $(\lambda; p)_{w}$ :

$$(\lambda; p)_{\nu} = \frac{1}{\Gamma(\lambda)} \int_{0}^{\infty} t^{\lambda + \nu - 1} \exp\left(-t - \frac{p}{t}\right) dt$$

$$\left(\Re(p) > 0; \Re(\lambda + \nu) > 0 \quad \text{when} \quad p = 0\right).$$

$$(9)$$

Since the generalized gamma function  $\Gamma_p(z)$  is related to the modified Bessel function of the third kind (or the Macdonald function)  $K_{\mu}(z)$  by (see [6]; see also [1,2], [7, pp. 265 *et seq.*], [13,14,30] for details)

$$\Gamma_p(\lambda) = 2p^{\frac{\lambda}{2}} K_{\lambda}(2\sqrt{p}) \quad \Big(\Re(p) > 0\Big),$$

the generalized Pochhammer symbol  $(\lambda; p)_{\nu}$  can also be written as follows:

$$(\lambda; p)_{\nu} = \frac{2p^{\frac{\lambda+\nu}{2}}}{\Gamma(\lambda)} K_{\lambda+\nu}(2\sqrt{p}) \quad (\Re(p) > 0). \tag{10}$$

Each of the following closed-form representations can be deduced from the representation (10):

$$\left(\frac{1}{2};p\right)_{n} = p^{\frac{n}{2}}e^{-2\sqrt{p}}\sum_{m=0}^{n}\frac{\left(4\sqrt{p}\right)^{-m}}{m!}\frac{(n+m)!}{(n-m)!} \quad \left(\Re(p) > 0; \ n \in \mathbb{N}_{0} := \mathbb{N} \cup \{0\}\right)$$

$$(11)$$

and

$$(1;p)_{\nu} = 2p^{\frac{\nu+1}{2}}K_{\nu+1}(2\sqrt{p}) \quad (\Re(p) > 0). \tag{12}$$

In the particular case when n = 0 and v = 0, we find from (11) and (12) that

$$\left(\frac{1}{2};p\right)_0 = e^{-2\sqrt{p}}$$
 and  $(1;p)_0 = 2\sqrt{p} K_1(2\sqrt{p}),$ 

respectively (see, for details, [1,2], [7, pp. 265 et seq.] and [13,14,30]).

**Theorem 1.** Let  $\lambda, \mu, \nu \in \mathbb{C}$ . Then

$$(\lambda; p)_{\nu + \mu} = (\lambda)_{\nu} (\lambda + \nu; p)_{\mu}. \tag{13}$$

**Proof.** From the definitions (2) and (8) of the classical and the generalized Pochhammer symbols, we find that

$$(\lambda; p)_{\nu + \mu} = \frac{\Gamma_p(\lambda + \nu + \mu)}{\Gamma(\lambda)} = \frac{\Gamma(\lambda + \nu)}{\Gamma(\lambda + \nu)} \frac{\Gamma_p(\lambda + \nu + \mu)}{\Gamma(\lambda)} = (\lambda)_{\nu}(\lambda + \nu; p)_{\mu}. \quad \Box$$

**Remark 1.** It readily follows from the assertion (13) of Theorem 1 that

$$(\lambda; p)_{n+m} = (\lambda)_n (\lambda + n; p)_m \quad (\lambda \in \mathbb{C}; \ m, n \in \mathbb{N}_0). \tag{14}$$

Thus, by applying the well-known properties of the classical Pochhammer symbol  $(\lambda)_n$  in (14) (see, for example, [18,19]), it is fairly straightforward to derive the corresponding properties of the generalized Pochhammer symbol  $(\lambda;p)_n$  as follows.

**Corollary 1.** Let  $k, \ell, m, n \in \mathbb{N}_0$  and  $N \in \mathbb{N}$ . Then

$$(\lambda; p)_{n+m+\ell} = (\lambda)_n (\lambda + n)_m (\lambda + n + m; p)_{\ell},$$

$$(\lambda;p)_{n-m+\ell} = \frac{(-1)^m(\lambda)_n}{(1-\lambda-n)_m} (\lambda+n-m;p)_{\ell},$$

$$(\lambda;p)_{2m+\ell}=2^{2m}\left(\frac{\lambda}{2}\right)_m\left(\frac{\lambda+1}{2}\right)_m(\lambda+2m;p)_{\ell},$$

$$(\lambda; p)_{Nm+\ell} = N^{Nm} \left(\frac{\lambda}{N}\right)_m \left(\frac{\lambda+1}{N}\right)_m \cdots \left(\frac{\lambda+N-1}{N}\right)_m (\lambda+Nm; p)_{\ell},$$

$$(\lambda+n;p)_{n+\ell}=(\lambda+n)_n(\lambda+2n;p)_\ell=\frac{(\lambda)_{2n}}{(\lambda)_n}\;(\lambda+2n;p)_\ell,$$

$$(\lambda+m;p)_{n+\ell}=\frac{(\lambda)_n(\lambda+n)_m}{(\lambda)_m}(\lambda+m+n;p)_{\ell},$$

$$(\lambda + km; p)_{kn+\ell} = \frac{(\lambda)_{km+kn}}{(\lambda)_{km}} (\lambda + km + kn; p)_{\ell},$$

$$(\lambda - n; p)_{n+\ell} = (-1)^n (1 - \lambda)_n (\lambda; p)_{\ell},$$

$$(\lambda - m; p)_{n+\ell} = \frac{(1 - \lambda)_m (\lambda)_n}{(1 - \lambda - n)_m} (\lambda + n - m; p)_{\ell},$$

$$(\lambda - km; p)_{kn+\ell} = (-1)^{km} (\lambda)_{kn-km} (1 - \lambda)_{km} (\lambda + kn - km; p)_{\ell},$$

$$\begin{split} &(\lambda+m;p)_{n-m+\ell} = \frac{(\lambda)_n}{(\lambda)_m} \ (\lambda+n;p)_\ell, \\ &(\lambda-m;p)_{n-m+\ell} = \frac{(-1)^m (\lambda)_n (1-\lambda)_m}{(1-\lambda-n)_{2m}} \ (\lambda+n-2m;p)_\ell \end{split}$$

and

$$(-\lambda; p)_{n+\ell} = (-1)^n (\lambda - n + 1)_n (-\lambda + n; p)_{\ell}.$$

# 3. Extension and generalization of the hypergeometric function

In terms of the generalized Pochhammer symbol  $(\lambda; p)_n$   $(n \in \mathbb{N}_0)$ , an extension of the generalized hypergeometric function  ${}_rF_s$  of r numerator parameters  $a_1, \ldots, a_r$  and s denominator parameters  $b_1, \ldots, b_s$  can now be given as follows:

$${}_{r}F_{s}\begin{bmatrix} (a_{1},p), & a_{2}, \dots, a_{r}; \\ & & z \\ b_{1}, \dots, b_{s}; \end{bmatrix} := \sum_{n=0}^{\infty} \frac{(a_{1};p)_{n}(a_{2})_{n} \cdots (a_{r})_{n}}{(b_{1})_{n} \cdots (b_{s})_{n}} \frac{z^{n}}{n!}, \tag{15}$$

provided that the series on the right-hand side converges, it being understood (as usual) that

$$a_j \in \mathbb{C}$$
  $(j = 1, \dots, r)$  and  $b_j \in \mathbb{C} \setminus \mathbb{Z}_0^-$ 

$$(j = 1, ..., s; \mathbb{Z}_0^- := \{0, -1, -2, ...\}).$$

In particular, the corresponding extensions of the confluent hypergeometric function  ${}_{1}F_{1}$  and the Gauss hypergeometric function  ${}_{2}F_{1}$  are given by

$${}_{1}F_{1}[(a,p);c;z] := \sum_{n=0}^{\infty} \frac{(a;p)_{n}}{(c)_{n}} \frac{z^{n}}{n!}$$
(16)

and

$${}_{2}F_{1}[(a,p),b;c;z] := \sum_{n=0}^{\infty} \frac{(a;p)_{n}(b)_{n}}{(c)_{n}} \frac{z^{n}}{n!}, \tag{17}$$

respectively.

**Theorem 2.** The following integral representation holds true:

$${}_{r}F_{s}\begin{bmatrix} (a_{1},p), & a_{2}, \dots, a_{r}; \\ & & z \\ & b_{1}, \dots, b_{s}; \end{bmatrix} = \frac{1}{\Gamma(a_{1})} \int_{0}^{\infty} t^{a_{1}-1} \exp\left(-t - \frac{p}{t}\right) \cdot {}_{r-1}F_{s}\begin{bmatrix} a_{2}, \dots, a_{r}; \\ & zt \\ b_{1}, \dots, b_{s}; \end{bmatrix} dt$$

$$(18)$$

$$(\Re(p) > 0; \Re(a_1) > 0 \text{ when } p = 0).$$

**Proof.** Replacing the generalized Pochhammer symbol  $(a_1, p)_n$  in the definition (15) by its integral representation given by (9), we get the desired result (18).  $\Box$ 

**Theorem 3.** The following Beta-type integral representation holds true:

$${}_{r}F_{s}\begin{bmatrix} (a_{1},p), & a_{2}, \dots, a_{r-1}, b; \\ b_{1}, \dots, b_{s-1}, c; \end{bmatrix} = \frac{1}{B(b,c-b)} \int_{0}^{1} t^{b-1} (1-t)^{c-b-1} \cdot {}_{r-1}F_{s-1} \begin{bmatrix} (a_{1},p), & a_{2}, \dots, a_{r-1}; \\ b_{1}, \dots, b_{s-1}; \end{bmatrix} dt$$

$$\left(\Re(c) > \Re(b) > 0; \Re(p) \ge 0\right). \tag{19}$$

**Proof.** The integral representation (19) involves the classical Beta function  $B(\alpha, \beta)$  defined by

$$B(\alpha,\beta) := \begin{cases} \int_0^1 t^{\alpha-1} (1-t)^{\beta-1} dt & \left(\min\{\Re(\alpha),\Re(\beta)\} > 0\right) \\ \frac{\Gamma(\alpha)\Gamma(\beta)}{\Gamma(\alpha+\beta)} & (\alpha,\beta \in \mathbb{C} \setminus \mathbb{Z}_0^-). \end{cases}$$
(20)

It can indeed be easily obtained by using the following elementary identity:

$$\frac{(b)_n}{(c)_n} = \frac{B(b+n,c-b)}{B(b,c-b)} = \frac{1}{B(b,c-b)} \int_0^1 t^{b+n-1} (1-t)^{c-b-1} dt \quad \Big(\Re(c) > \Re(b) > 0; \ n \in \mathbb{N}_0\Big).$$

**Theorem 4.** The following derivative formula holds true:

$$\frac{d^{n}}{dz^{n}} \left\{ {}_{r}F_{s} \begin{bmatrix} (a_{1}, p), & a_{2}, \dots, a_{r}; \\ & & z \end{bmatrix} \right\} = \frac{(a_{1})_{n}(a_{2})_{n} \cdots (a_{r})_{n}}{(b_{1})_{n}(b_{2})_{n} \cdots (b_{s})_{n}} \cdot {}_{r}F_{s} \begin{bmatrix} (a_{1} + n, p), & a_{2} + n, \dots, a_{r} + n; \\ & & z \end{bmatrix}$$

$$(n \in \mathbb{N}_{0}; \Re(p) \geq 0).$$

$$(21)$$

**Proof.** The result (21) is obviously valid in the trivial case when n = 0. For n = 1, by using the series representation (15) of  $_rF_s$ , we find from (21) that

$$\frac{d}{dz}\left\{\sum_{n=0}^{\infty}\frac{(a_1;p)_n(a_2)_n\cdots(a_r)_n}{(b_1)_n(b_2)_n\cdots(b_s)_n}\frac{z^n}{n!}\right\} = \sum_{n=1}^{\infty}\frac{(a_1;p)_n(a_2)_n\cdots(a_r)_n}{(b_1)_n(b_2)_n\cdots(b_s)_n}\frac{z^{n-1}}{(n-1)!} = \sum_{n=0}^{\infty}\frac{(a_1;p)_{n+1}(a_2)_{n+1}\cdots(a_r)_{n+1}}{(b_1)_{n+1}(b_2)_{n+1}\cdots(b_s)_{n+1}}\frac{z^n}{n!}$$

which, in view of (13), yields

$$\frac{d}{dz} \left\{ {}_{r}F_{s} \left[ \begin{array}{ccc} (a_{1},p), & a_{2}, \dots, a_{r}; \\ & & z \\ & b_{1}, \dots, b_{s}; \end{array} \right] \right\} = \frac{a_{1}a_{2} \cdots a_{r}}{b_{1}b_{2} \cdots b_{s}} \cdot {}_{r}F_{s} \left[ \begin{array}{ccc} (a_{1}+1,p), & a_{2}+1, \dots, a_{r}+1; \\ & & z \\ & b_{1}+1, \dots, b_{s}+1; \end{array} \right].$$

The general result (21) can now be easily derived by using the principle of mathematical induction on  $n \in \mathbb{N}_0$ .  $\square$  We state the following results without proof. Each of these results would follow readily from the corresponding known result involving the generalized hypergeometric functions, which are asserted by Theorems 2–4.

**Corollary 2.** Each of the following integral representations holds true:

$${}_{1}F_{1}[(a,p);b;z] = \frac{1}{\Gamma(a)} \int_{0}^{\infty} t^{a-1} \exp\left(-t - \frac{p}{t}\right) {}_{0}F_{1}(---;b;zt) dt, \tag{22}$$

$${}_{2}F_{1}[(a,p),b;c;z] = \frac{1}{\Gamma(a)} \int_{0}^{\infty} t^{a-1} \exp\left(-t - \frac{p}{t}\right) {}_{1}F_{1}(b;c;zt) dt$$
 (23)

and

$${}_{2}F_{1}[(a,p),b;c;z] = \frac{1}{B(b,c-b)} \int_{0}^{1} t^{b-1} (1-t)^{c-b-1} {}_{1}F_{0}[(a,p);---;zt] dt, \tag{24}$$

provided that the integrals involved are convergent.

**Corollary 3.** The following derivative formulas hold true:

$$\frac{d^{n}}{dz^{n}}\left\{{}_{1}F_{1}[(a,p);c;z]\right\} = \frac{(a)_{n}}{(c)_{n}}\,{}_{1}F_{1}[(a+n,p);c+n;z] \tag{25}$$

and

$$\frac{d^{n}}{dz^{n}} \{ {}_{2}F_{1}[(a,p),b;c;z] \} = \frac{(a)_{n}(b)_{n}}{(c)_{n}} {}_{2}F_{1}[(a+n,p),b+n;c+n;z]. \tag{26}$$

**Remark 2.** The Bessel function  $J_{\nu}(z)$  and the *modified* Bessel function  $I_{\nu}(z)$  are expressible as hypergeometric functions as follows (see, for example, [19]; see also [1,2], [7, pp. 265 *et seq.*] and [13,14,30]):

$$J_{\nu}(z) = \frac{\left(\frac{z}{2}\right)^{\nu}}{\Gamma(\nu+1)} \ _{0}F_{1}\left(---;\nu+1;-\frac{1}{4}z^{2}\right) \quad \left(\nu \in \mathbb{C} \setminus \mathbb{Z}^{-} \ (\mathbb{Z}^{-}:=\{-1,-2,-3,\cdots\})\right) \tag{27}$$

and

$$I_{\nu}(z) = \frac{\left(\frac{z}{2}\right)^{\nu}}{\Gamma(\nu+1)} {}_{0}F_{1}\left(--;\nu+1;\frac{1}{4}z^{2}\right) \quad (\nu \in \mathbb{C} \setminus \mathbb{Z}^{-}). \tag{28}$$

Moreover, for the incomplete gamma function  $\gamma(s,x)$  defined by (3), we know that

$$_1F_1(\kappa;\kappa+1;-x) = \kappa x^{-\kappa}\gamma(\kappa,x).$$
 (29)

Thus, by applying the relationships (27) to (29) in Corollary 2, we can deduce Corollaries 4 and 5 below.

**Corollary 4.** Each of the following integral representations holds true:

$${}_{1}F_{1}[(a,p);b+1;-z] = \frac{\Gamma(b+1)}{\Gamma(a)} z^{-\frac{b}{2}} \cdot \int_{0}^{\infty} t^{a-\frac{b}{2}-1} \exp\left(-t - \frac{p}{t}\right) J_{b}\left(2\sqrt{zt}\right) dt \tag{30}$$

and

$${}_{1}F_{1}[(a,p);b+1;z] = \frac{\Gamma(b+1)}{\Gamma(a)} z^{-\frac{b}{2}} \cdot \int_{0}^{\infty} t^{a-\frac{b}{2}-1} \exp\left(-t - \frac{p}{t}\right) I_{b}\left(2\sqrt{zt}\right) dt, \tag{31}$$

provided that the integrals involved are convergent.

**Corollary 5.** The following integral representations holds true:

$${}_{2}F_{1}[(a,p),b;b+1;-z] = \frac{bz^{-b}}{\Gamma(a)} \int_{0}^{\infty} t^{a-b-1} \exp\left(-t - \frac{p}{t}\right) \gamma(b,zt) dt, \tag{32}$$

provided that the integral involved is convergent.

# 4. Families of generalized hypergeometric generating functions

In order to derive several families of generalized hypergeometric generating functions, we find it to be convenient to abbreviate by  $\Delta(N, \lambda)$  the following array of N parameters:

$$\frac{\lambda}{N}, \frac{\lambda+1}{N}, \dots, \frac{\lambda+N-1}{N} \quad (\lambda \in \mathbb{C}; N \in \mathbb{N}),$$

the array  $\Delta(N;\lambda)$  being assumed to be empty when N=0 (see, for details, [2], [7, Chapter 4], [14] and [25, Chapter 2]).

**Theorem 5.** The following generating function holds true:

provided that each member of (33) exists.

**Proof.** Our derivation of the generating function (33) is based upon the definition (15) and the following elementary identity:

$$\sum_{n=0}^{\infty} \frac{(\lambda)_n}{n!} z^n = (1-z)^{-\lambda} \quad (|z| < 1; \ \lambda \in \mathbb{C}). \tag{34}$$

The details involved are being omitted here.  $\Box$ 

**Remark 3.** Whenever any of the numerator parameters  $a_2, \ldots, a_r$  is a *nonpositive* integer, the series in the definition (15) would terminate and define a generalized hypergeometric polynomial. Theorem 6 below provides a general family of generating functions for such classes of hypergeometric polynomials.

**Theorem 6.** Each of the following generating functions holds true:

$$\sum_{n=0}^{\infty} \frac{(\lambda)_n}{n!} \, _{r+N} F_s \begin{bmatrix} \Delta(N;-n), (a_1,p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; & z \end{bmatrix} t^n = (1-t)^{-\lambda} \, _{r+N} F_s \begin{bmatrix} \Delta(N;\lambda), (a_1,p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; & z \left( -\frac{t}{1-t} \right)^N \end{bmatrix}$$

$$(|t| < 1; \ \lambda \in \mathbb{C}; \ N \in \mathbb{N}),$$
(35)

$$\sum_{n=0}^{\infty} \frac{(\lambda)_n}{n!}_{r+2N} F_s \begin{bmatrix} \Delta(N;-n), \Delta(N;\lambda+n), (a_1,p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n$$

$$= (1-t)^{-\lambda} {}_{r+2N}F_s \begin{bmatrix} \Delta(2N;\lambda), (a_1,p), & a_2, \dots, a_r; \\ & b_1, \dots, b_s; \end{bmatrix} z \left( -\frac{4t}{(1-t)^2} \right)^N \end{bmatrix} \quad (|t| < 1; \ \lambda \in \mathbb{C}; \ N \in \mathbb{N})$$
 (36)

and

$$\sum_{n=0}^{\infty} \frac{(\lambda)_n}{n!} {}_{r+N} F_{s+N} \begin{bmatrix} \Delta(N;-n), (a_1,p), & a_2, \dots, a_r; \\ \Delta(N;1-\lambda-n), & b_1, \dots, b_s; \end{bmatrix} t^n = (1-t)^{-\lambda} {}_{r} F_s \begin{bmatrix} (a_1,p), & a_2, \dots, a_r; \\ & b_1, \dots, b_s; \end{bmatrix} z t^N$$

$$(|t| < 1; \ \lambda \in \mathbb{C}; \ N \in \mathbb{N}),$$
(37)

provided that each member of the assertions (35) to (37) exists.

**Proof.** The proof of Theorem 6 is much akin to that of Theorem 5.  $\Box$ 

Finally, we choose to state the *simplest* consequences of the generating functions (33) and 35, 36, 37 when N = 1 as Corollary 6 below.

**Corollary 6.** Each of the following generating functions holds true:

$$\sum_{n=0}^{\infty} \frac{(\lambda)_n}{n!} {}_{r+1}F_s \begin{bmatrix} \lambda + n, (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; & z \end{bmatrix} t^n = (1-t)^{-\lambda} {}_{r+1}F_s \begin{bmatrix} \lambda, (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; & \overline{1-t} \end{bmatrix} \quad (|t| < 1; \ \lambda \in \mathbb{C}), \qquad (38)$$

$$\sum_{n=0}^{\infty} \frac{(\lambda)_n}{n!} \, _{r+1}F_s \begin{bmatrix} -n, (a_1, p), & a_2, \dots, a_r; \\ & b_1, \dots, b_s; \end{bmatrix} t^n = (1-t)^{-\lambda} \, _{r+1}F_s \begin{bmatrix} \lambda, (a_1, p), & a_2, \dots, a_r; \\ & b_1, \dots, b_s; \end{bmatrix} \quad (|t| < 1; \; \lambda \in \mathbb{C}), \qquad (39)$$

$$\sum_{n=0}^{\infty} \frac{(\lambda)_n}{n!} {r+2 F_s} \begin{bmatrix} -n, \lambda + n, (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1-t)^{-\lambda} {r+2 F_s} \begin{bmatrix} \Delta(2; \lambda), (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; & -\frac{4zt}{(1-t)^2} \end{bmatrix}$$

$$(|t| < 1; \lambda \in \mathbb{C})$$

and

$$\sum_{r=0}^{\infty} \frac{(\lambda)_n}{n!} {}_{r+1} F_{s+1} \begin{bmatrix} -n, (a_1, p), & a_2, \dots, a_r; \\ 1 - \lambda - n, & b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; \end{bmatrix} t^n = (1 - t)^{-\lambda} {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s;$$

provided that each member of the generating functions (38) to (41) exists.

Finally, since

$$\lim_{|\lambda| \to \infty} \left\{ (\lambda)_n \left( \frac{Z}{\lambda} \right)^n \right\} = Z^n = \lim_{|\mu| \to \infty} \left\{ \frac{(\mu Z)^n}{(\mu)_n} \right\} \qquad (\lambda, \mu \in \mathbb{C}; \ n \in \mathbb{N}_0),$$

a limit case of the generating function (39) when t is replaced by  $\frac{t}{\lambda}$  and  $|\lambda| \to \infty$  yields the following *exponential* generating function:

$$\sum_{r=0}^{\infty} {r+1 F_s} \begin{bmatrix} -n, (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; & z \end{bmatrix} \frac{t^n}{n!} = e^t {}_r F_s \begin{bmatrix} (a_1, p), & a_2, \dots, a_r; \\ b_1, \dots, b_s; & -zt \end{bmatrix}. \tag{42}$$

As a matter of fact, this last generating function (42) can be deduced also as a limit case of two of the other generating functions (40) and (41) asserted by Corollary 6. For example, if we replace z and t in the generating function (41) by  $-\lambda z$  and  $\frac{t}{\lambda}$  respectively, and then proceed to the limit as  $|\lambda| \to \infty$ , we are led easily to the *exponential* generating function (42).

# 5. Concluding remarks and observations

In our present investigation, we first introduced a generalization of the Pochhammer symbol by means of the one-parameter family of generalized gamma functions defined by (1). Then, with the help of this new Pochhammer symbol  $(\lambda; p)_{\nu}$ 

defined by (8), we introduced an extension of the generalized hypergeometric function  $_rF_s$  with r numerator and s denominator parameters. Finally, we presented a systematic study of the various fundamental properties of the class of generalized hypergeometric functions introduced here.

In their special cases when p = 0, the results obtained in this paper would reduce to the corresponding well-known results for the generalized hypergeometric function  ${}_{r}F_{s}$  and for its various related functions (see, for details, [8,19,22,25].

The closed-form expressions of the integrals, which we have evaluated in this paper, are presumably not available in the existing literature. With the help of the generalized Pochhammer symbol  $(\lambda; p)_{\nu}$  defined by (8), various other families of special functions can also be generalized similarly and the closed-form expressions of integrals, which may not be expressible in terms of known functions, can be obtained.

### References

- [1] M. Abramowitz, I.A. Stegun (eds), Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables, Applied Mathematics Series 55, National Bureau of Standards, Washington, D.C., 1964; Reprinted by Dover Publications, New York, 1965 (see also [14]).
- [2] G.E. Andrews, R. Askey, R. Roy, Special Functions, Encyclopedia of Mathematics and Its Applications, Vol. 71, Cambridge University Press, Cambridge, London and New York, 1999.
- [3] A. Çetinkaya, The incomplete second Appell hypergeometric functions, Appl. Math. Comput. 219 (2013) 8332-8337.
- [4] M. Bozer, M.A. Özarslan, Notes on generalized gamma, beta and hypergeometric functions, J. Comput. Anal. Appl. 15 (2013) 1194–1201.
- [5] M.A. Chaudhry, A. Qadir, H.M. Srivastava, R.B. Paris, Extended hypergeometric and confluent hypergeometric functions, Appl. Math. Comput. 159 (2004) 589–602.
- [6] M.A. Chaudhry, S.M. Zubair, Generalized incomplete gamma functions with applications, J. Comput. Appl. Math. 55 (1994) 99-124.
- [7] A. Erdélyi, W. Mangus, F. Oberhettinger, F.G. Tricomi, Higher Transcendental Functions, Vol. I, McGraw-Hill Book Company, New York, Toronto and London, 1953.
- [8] A. Erdélyi, W. Mangus, F. Oberhettinger, F.G. Tricomi, Tables of Integral Transforms, Vol. I, McGraw-Hill Book Company, New York, Toronto and London, 1954.
- [9] I.I. Guseinov, B.A. Mamedov, Unified treatment for the evaluation of generalized complete and incomplete gamma functions, J. Comput. Appl. Math. 202 (2007) 435–439.
- [10] A. Hasanov, H.M. Srivastava, M. Turaev, Decomposition formulas for some triple hypergeometric functions, J. Math. Anal. Appl. 324 (2006) 955–969.
- [11] K. Katayama, A generalization of gamma functions and Kronecker's limit formulas, J. Number Theory 130 (2010) 1642–1674.
- [12] K. Kobayashi, On generalized gamma functions occurring in diffraction theory, J. Phys. Soc. Japan 61 (1991) 1501–1512.
- [13] W. Magnus, F. Oberhettinger, R.P. Soni, Formulas and Theorems for the Special Functions of Mathematical Physics, Third Enlarged Edition, Die Grundlehren der Mathematischen Wissenschaften in Einzeldarstellungen mit besonderer Berücksichtingung der Anwendungsgebiete, vol. 52, Springer-Verlag, Berlin, Heidelberg and New York, 1966.
- [14] F.W.J. Olver, D.W. Lozier, R.F. Boisvert and C.W. Clark (eds), NIST Handbook of Mathematical Functions [With 1 CD-ROM (Windows, Macintosh and UNIX)], U.S. Department of Commerce, National Institute of Standards and Technology, Washington, D.C., 2010; Cambridge University Press, Cambridge, London and New York, 2010 (see also AS).
- [15] M.A. Özarslan, Some remarks on extended hypergeometric, extended confluent hypergeometric and extended Appell's functions, J. Comput. Anal. Appl. 14 (2012) 1148–1153.
- [16] M.A. Özarslan, E. Özergin, Some generating relations for extended hypergeometric functions via generalized fractional derivative operator, Math. Comput. Modelling 52 (2010) 1825–1833.
- [17] E. Özergin, M.A. Özarslan, A. Áltn, Extension of gamma, beta and hypergeometric functions, J. Comput. Appl. Math. 235 (2011) 4601-4610.
- [18] A.P. Prudnikov, Yu. A. Brychkov, O.I. Marichev, Integrals and Series, Vol. 1: Elementary Functions, Gordon and Breach, New York, 1986; Reprinted by Taylor and Francis, London, 1998.
- [19] E.D. Rainville, Special Functions, Macmillan Company, New York, 1960; Reprinted by Chelsea publishing Company, Bronx, New York, 1971.
- [20] H.M. Srivastava, Some generalizations and basic (or q-) extensions of the Bernoulli, Euler and Genocchi polynomials, Appl. Math. Inform. Sci. 5 (2011) 390–444.
- [21] H.M. Srivastava, Riemann, Hurwitz and Hurwitz-Lerch Zeta functions and associated series and integrals, in: P.M. Pardalos, Th.M. Rassias (Eds.), Essays in Mathematics and Its Applications (In Honor of Stephen Smale's 80th Birthday), Springer-Verlag, Berlin, Heidelberg and New York, 2012, pp. 431–461
- [22] H.M. Srivastava, M.A. Chaudhry, R.P. Agarwal, The incomplete Pochhammer symbols and their applications to hypergeometric and related functions, Integral Transforms Spec. Funct. 23 (2012) 659–683.
- [23] H.M. Srivastava, J. Choi, Series Associated with the Zeta and Related Functions, Kluwer Academic Publishers, Dordrecht, Boston and London, 2001.
- [24] H.M. Srivastava, J. Choi, Zeta and *q*-Zeta Functions and Associated Series and Integrals, Elsevier Science Publishers, Amsterdam, London and New York, 2012
- [25] H.M. Srivastava, H.L. Manocha, A Treatise on Generating Functions, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, 1984.
- [26] H.M. Srivastava, R.K. Saxena, C. Ram, A unified presentation of the gamma-type functions occurring in diffration theory and associated probability distributions, Appl. Math. Comput. 162 (2005) 931–947.
- [27] R. Srivastava, Some properties of a family of incomplete hypergeometric functions, Russian J. Math. Phys. 20 (2013) 121–128.
- [28] R. Srivastava, Some generalizations of Pochhammer's symbol and their associated families of hypergeometric functions and hypergeometric polynomials, Appl. Math. Inform. Sci. 7 (2013) 2195–2206.
- [29] R. Srivastava, N.E. Cho, Generating functions for a certain class of incomplete hypergeometric polynomials, Appl. Math. Comput. 219 (2012) 3219–3225
- [30] G.N. Watson, A Treatise on the Theory of Bessel Functions, Second edition, Cambridge University Press, Cambridge, London and New York, 1944.